24,
26.
28.
30.
32.
34.
36.
38.

40.

42.

44.

46.

48.

logsl = logg(8°) = 0

log 0.000001 = log 106 = —6
logs8 = logy(4%/%) = 2

olog13 _ 13

€207 = (eb7)2 = 72 = 49

logs /243 = logs(3%/2) = &

logs250 — logs2 = logs 2% = = logs125 = logs5% = 3
loglo(logmlowo) 10g10100 = log10102 =2
logs (x z2 4 ) logsz + logoy/ 2% + 1 = logaz + % loga(2? + 1)

4 3
log(Tw—D—s) = log(4z®) — log[y?(z — 1)°] = log4 + 3logz — [2logy + 5 log(z — 1)]

v (z —

In V'l +12 = Lin(z* + 12) — [In(z + 16) + L In(z — 3)]
(z+16)/z-3) ° 2

log z +log(a%y) + 3logy = log(z - z%y - ) = log(z%y*)

’ 2 1
logs2 + logs(z + 1) — 3 logs(3z + 7) = logs[2(z + 1)] — logs(3z + 7)'/2 = logs (T%\/+—T)7>
T



